ABERESRESE [FUE[HD & % & [HLE
20204F 28 128 KEER
(IBFE - 1A 198)
XS EOBW
ENRIBEF: 2/11 12:04
ERATIS (=373 BER
s e i ’ Bt HEE a1 BE |mtl  (#E Bt HEE faE HE |uwe] (E&E
RERDRARELRR) i AT 75 100| & == #97. $795 250| &
Eit HEE fig BE |me| = - S U RERD T 200( & R wWEE  |Las 200| &
HE ashER|shry 7y ® | 4000 B [ED 018 RS |9ANnE S 100{ & WA srya—  [s45 100 {&
4,000 {& EEs N34 50 {& B WAF EVES 20 &
XY 14% & 5 2,800 {&
B (L) Ef& vua, Kav44t #©
TRE Kbv4 & e
Eih HEE i BE [ma HE K KiR nN34hat 50( &
FIF & *E'+3°3k 250/ {& Fk IMIE S} 100| & i HEE s = el {FEE
= =En 74k & B, AR ES ke REAS bi77:: 0 8 =29 2,500| &
FE i N KFMIv4k 100| {& BEX [i59=4 B ke ERBS |=#5 EHUN'F 1,000| &
INFI47Y3k & B — Fhyt 100| {8 28 252 70( &
K714 5k & JFE I 7')5 & Eigs Wnst ENTF 300( &
== hHhas 9l 275k & =] BEh LV & KA ERMN BT 300 #%
WA 91275k 300/ {& B THERDYY |FREAL15H 50| {& BE AEls - I ) 500| kg
KF474k & BiR IR EVES L)Y & a5 L2ty #5757 200| ke
BH H)a4 Y1V A5k & FE N KTEA 200| & E 700 kg
FI&S B 7Y, ¥k & ' =E1 4 100| {8 1,370 &
Hi 650 {& 5 kg 2,800 #%
1,050 {&
— EARE —
Eib HEE pit = |[Ee|  HFE Eit HEE a8 = [Ee]  {HE
R Ltx& E3R. 77945+ 150| {& Ei HEE ki BE |Eal HE O |AES 5= Vol 100( kg
kAR TV e 200| {& R =R EaM5 ke R HES ¥4I 600| ke
= FRAYH 100 {& Hak FBEIR, ETA5H 300| kg EE 5N 5= &= "
VAW 2 8 100| {& =078 FEAR RS 200| ke PE ] BERS w
AR ANAMA, EFRSF 150 {& ER A5 ke REZA 4 =HN THY 600| kg
it Y 100| {& kst EENIY 200( ke Koot EES Fa 200| kg
BiF 705 & paf-] ETHT 50| ke FES =S FE 100 ke
(=) 7. 75945 1,000| {& N [z&E & 335t 100( ke gBE A5t Bi 100( kg
&R E7A. 32754 200| {& EE [ S &5 100 ke HhEEsN ARESN |EIE 100| ke
FHE DAN N EFRSH 150| {& RES EN375° 45 100| ke 1,800 kg
SR RIS Y75 & 12 Fichi: FEETA, LIRS 100| kg "
vich ] 103y, 345+ 1,400| {& xR FEETA M0 H 600| kg
IMER BHEfH. h75 100| {& & B M08 200| kg &f  4650ke
RBA &7 250| & PN ] AT 200| kg 13,100 &
KERH 250( A& Bt 2,150 ke 2,120 &
BxEh 100| & wEER
‘/EA 150( & e 2,800 #x HER
X5 A b ab:-) 100| &
B# VR 150| {& EH HEE iz B el {EE
IYER #9745+ 100| {& tam =mEN #9754 500| &
LA 445 & 1 400| &
M N54h5t 100| {& xR #1937, Kab15h 450( {&
B b2 kg s #9551 100| &
X HoHE  |[BANAN 500| {& BEEN 200| {8
B ke §EiR #97. Khb15+ 250( {&
4,600 & R #9754 100| &
750 & B 7. 97%45 &
HE [ S 1A 100| {&
FTi] #9551 150| 18

(1/1)




